
Question 1 

Question text 

An employee who believes in organizational citizenship________ 

Select one: 

Believes that their company should begin a community volunteering program. 

Wants to buy stock in their company. 

Looks for his/her own best interest at all times. 

Has an eye out for the company’s best interest at all times. 

Question 2 

Question text 

Positive OCBs reduce the need for supervision, improve workplace morale and reduce_______ 

Select one: 

A. Attrition 

B. Time 

C. Cost 

D. Only (a) 

Question 3 

Question text 

What are the types of behaviour that fall under OCB: 

Select one: 

A. Self-development 

B. Altruism 

C. None of the above (A&amp;B) 

D. Only (b) 

 


